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UPCOMING ONLINE BATCHES

01 Dec 2021

08:00 AM to 10:00 AM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

05:30 PM to 07:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

01:00 PM to 03:00 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

07:30 PM to 09:30 PM

SSC CGL MAINS LIVE COURSE
(S5C C6L)

BILINGUAL

December 2021

08 Dec 2021

10:30 AM to 12:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

03:00 PM to 05:00 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

08:00 AM to 10:00 AM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

08:00 AM to 10:00 AM
CCC NIELIT LIVE COURSE

BILINGUAL

15 Dec 2021

01:00 PM to 03:00 PM
LIVE PREMIUM
GREEN CARD

(BANK-PO & CLERK)
10:30 AM to 12:30 PM

LIVE PREMIUM
SILVER CARD
(SSC CGL & CHSL)

BILINGUAL

22 Dec 2021

08:00 AM to 10:00 AM
LIVE PREMIUM

GREEN CARD
(BANK-PO & CLERK)
07:30 PM to 09:30 PM

LIVE PREMIUM
SILVER CARD
(SSC CGL & CHSL)

BILINGUAL

& www.mahendras.org

29 Dec 2021

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

07:30 PM to 09:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

03:00 PM to 05:00 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

BILINGUAL
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/Wﬁb// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /
UT&N8370%3PS*A@7"TS8TB%F74#

How many such symbols are there in the above arrangement each of which is immediately preceded

by a vowel and immediately followed by a number? 39ed sa€aT # W fhaa udi® § o=d &
q—ama;ammwwsﬁtmmwm%?

A.l

B.3

C.More than three

D.2

E.None

How many such numbers are there in the above arrangement each of which is immediately followed by

a number and immediately preceded by a consonant? 3T&d cga¥yT # VHT fFd«l FEIw § a7 |
YAd & AF JI¢ Th &Il X SF Jga UF chsiel 87
A.l

B.None
C.3
D.More than three

E.2
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/Wb// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /
UT&N8370%3PS*A@7"TS8TB%F74#

If all the symbols are dropped from the given arrangement, then which of the following element is

7t from the right end? Ife & 1§ cgarar @ G gl & ger f&ar arar g, O AFafQf@a &
¥ T W1 dcad g BR T A T 9T 72

A.T

B.F

C.P

D.B

E.None of these

Which of the following element is seventh to the right of sixth element from the left end?

frfaf@a & @ &l I dcg 90 8 @ &6 dcd & g ¥ FIdd TUT W 8§72

COow>
LW * T

it

E.None of these
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/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

How many such pairs of letters are there in the word ‘'NOTEBOOK' each of which
has as many letters between them as they have in the English alphabetical series
(both forward and backward direction)?

reg 'Alcgd’ # HaTT & VW fhde A3 § Oed @ 9@+ & i 3da & 318N
& foraa & sraeh aotaren s@en (3w 3t O 2=t Rremsit) & &2

A.2
B.3
C.None
D.1
E.M

ore than three
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

aﬁ;mﬁﬁmﬁmmm Certain numbers of persons are
%f@'ﬂ;qﬁﬁﬂ%a sitting in the linear row facing north.

Five persons are sitting between H

H WV*WWW%w Q,V & g and V. Q sits third to the right of V.
TN AT RASTEIHIRLF AT IS The number of persons sits between

_q.ﬁ__d.zn: ?I'UEIT‘ 3ﬁT ﬁ’l'il' _q'ﬁrcl'ﬂﬁ' H and L is same as that of L and V.
el T HEAT L v a; a%- “ The number of persons sits to the left
a?rawﬂ»'m%l H 3;31'%'3'11?%3 of H is one less than the number of

azrﬁ-ﬂa’ra?rmﬁwam%l (0) a:a'rzﬁ% persons sits to the right of O. N sits
—q-m‘ e BTﬁTI" : at the extreme right end. Q sits

& : HIHEATEI N gl BR 9T a1 fourth from the right end. O and Q
gl QEITTW@?I’TQTFW Wh%| 03k Q are immediate neighbours. X sits left
fAFcaA TSI 8. X, H & a1 doT 8 oifehet of H but not an immediate left. More
mmmh%l X 3ﬁT L a;m'zraw# than four people are sitting between

E cﬁ %%I X and L.
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/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Certain numbers of persons are
sitting in the linear row facing north.
Five persons are sitting between H
and V. Q sits third to the right of V.
The number of persons sits between
H and L is same as that of L and V.
The number of persons sits to the left
of H is one less than the number of
persons sits to the right of O. N sits
at the extreme right end. Q sits
fourth from the right end. O and Q
are immediate neighbours. X sits left
of H but not an immediate left. More
than four people are sitting between
X and L.
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/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

T T T T T T T T T T T T T ’I‘ T T Who among the following person sits second to the left of L?
X ' . v O Q 4 a) The one who sits immediate right of O
b) D
c) The one who sits third from the extreme left end
d)H

e) None of these

Who among the following person sits to the right of 0?
)V

i) N

) Q

a) Only (II) and (III)
b) Only (I)

c) Only (I) and (III)

d) Only (II)

e) All (I), (IT1) and (III)



http://www.mahendras.org/

/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

Who among the following person sits at the end of the row?

Y M W A W O S O O N S PO
I b) One who sits fourth to the right of V
X H L v 0 Q N c) Q

d) One who sits third to the left of L

e) No one

How many persons are sitting in the row?
a) 18
b) 19
c) 20
d) 16
e) 22



http://www.mahendras.org/

FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

Kelvin walks to a shop. From his house, he walked 7m towards the east and turned right
and walked 8m to reach point B. Then he took a 90 degree anti-clockwise direction and
covered 5m to reach point C. Again he takes 90 degree anti-clockwise direction and walked
15m to reach point D. Finally, he turned to his right and walked 10m to reach the
shop.mwwaﬁmgl I WX W, 98 99 1 AR 7A Torar § 3R ¢ Fqzar § 3R g B W
wgaa & fav 8al Ferar #1 A W 90 Rt amrad e o 3k g C W wgw & fav 5 M A gl @
$T T & a8 90 Bt amATae fGamw dar § 3R o Smar #1 g D W wg=wat F fAw 155, 3@ &, 97 39 g
Agar § 3R gF aF wgasr & faw 10+ Tear @ N

What is the overall distance covered by Kelvin from his house to
the shop?

A.55m

B.40m

C.45m

D.30m

E. None of these
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/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

; 10m s e If point E is 8m to the south of kelvin's house, then what is the
distance between B and E?

A.9m

B.4m

C.6m

D.3m

E. None of these

(T g— 3

i5m

gm Find the shortest distance between B and D.
A.10vV2 m

90’ 90 B.10vV5 m

sl sn C.5v10 m

D.25vV10 m

E. None of these
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Five persons are living on five different floors of the building. The lowermost floor is numbered as 1 and the
topmost floor is numbered as 5. Two persons are living between D and H. L lives immediately above O. M lives

above 0. D lives neither topmost floor nor lowermost floor. Who among the following person lives on the fourth
floor?

AR $T UTT HAIN-IHAI AfSdl W ITT IfFd € W] 81 Fad Aaeh afae i gear 1 g 3 9@ 398
A T &A1 5 81 D 3R H & i & safFa & 81 L, O & & W Wam &l M, O F FW War gl D
o A FH I ARG W Wwar g 3R T & gea PAudl Aod W) Afaf@a # & Fia gk ae w
I@dT 87

a)H

b) D

c)L

d)O

e)M
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/ Watendrna’s / / FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE: E14727 /

a) If the Only conclusion I follow. Statements:
b) If Only conclusion II follows. B>D=2C=E<G=F<H
c) If either conclusion I or II follows. Conclusions:
d) If Neither conclusion I nor II follows. ). F>C
e) If both conclusions I and II follow. ). H<C
Statements:
P>S<W=Q>M=U
Conclusions:
). S <Q
.U <Q

it
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Seven persons viz. ], K, L, M, N, O,and P
are standing on a circular path such that
all of them are facing towards the center,
but not necessarily in the same order. The
consecutive alphabetically named person
doesn’t stand adjacent to each other. N
stands three persons away from J. Only
one person stands between M and O. P
stands to the immediate right of K but not
adjacent to N.

ATd S 37411 J, K, L, M, N, O, 3R P T
JaThR 99 W 3H YR @3 ¢ & sa s a1 7@
Fg 1 3§, AP 3TTTF AG A FA A A
qUITTHHA H ATAd AT Th gAY & fishe oTdl
@EIN, ) AN aFa @i m3ito®
dT Fad v AT @ST & | P, K & e g @WeT
g ftheT N & 3THT AT ¢
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How many persons are standing between J and P when
counter from the left of J?
A.As many persons from the right of L to K
B.Three
C.As many persons from the left of J to M
) D.Four

M E.None of these

If all the persons are made to stand in reverse alphabetical
P order in a clockwise direction with respect to P, then how

L many persons remain unchanged in their position except P?

A.None

B.One

C.Two

D.Three

E.More than three
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Who among the following person stands to the immediate left of
the one who is third to the right of N?

A.M

B.J

C.O

D.P

E.None of these

Who among the following person stands second to the right of K?
A.P

B.N

C.M

D.]

E.None of these

What is the position of L with respect to M?
A.Second to the right

B.Second to the left

C.Immediate left

D.Third to the right

E.Third to the left
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10 people celebrate their birthday on 15th and 20th of 5 months- January, March, April, June and
November. R celebrates birthday after Q. L celebrates his birthday on 15th of the month which
has 31 days. Exactly 2 persons celebrate their birthdays between that of L and P. Exactly 3
persons celebrate birthday between that of P and O. M celebrate birthday just before T but not in
June or November. Also, both M and T celebrate a birthday in the same month. The number of
persons celebrating a birthday before O is same as the number of persons celebrating birthday
after N. Both U and S celebrate a birthday in the same month and U celebrates a birthday before

S.

5 FET T 15 3 20 ARG FY 10 FT IHTAT FeA TG HAT &- STe1a), AT, 34, 5767 3K
sTda<| R, Q ¥ 91 STeA ST AT & Lma*nﬁ?rwrﬂﬁﬁa?usmaﬁm%ﬁmﬁ
31 R 21 ¥ O 2 a3 L 3R P & i 31911 STeA TR A1 ¥ 81 3 uiFa P 3R 0 & vy
HeATGT AATA 81 M, TH SN Tg el STeH et HeATel © ol fehet o[t AT siday A e | AA 8, M AR T
&Yl U & FAR ¥ STt AATY §1 0 W UES STeA I HeTlel ATer SATFTET Y HEATN & 916
STeH ST HelTol aT AT ddl HY TE&AT & FATA g1 U 3T s 1) T & Al F SieATeT AT &
3R U, s A 9 STeATeT AATT & |
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10 people celebrate their birthday on 15th
and 20th of 5 months- January, March,
April, June and November. R celebrates
birthday after Q. L celebrates his birthday
on 15th of the month which has 31 days.
Exactly 2 persons celebrate their birthdays
between that of L and P. Exactly 3 persons
celebrate birthday between that of P and
O. M celebrate birthday just before T but
not in June or November. Also, both M
and T celebrate a birthday in the same
month. The number of persons
celebrating a birthday before O is same as
the number of persons celebrating
birthday after N. Both U and S celebrate a
birthday in the same month and U
celebrates a birthday before S.
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Day

People

Jan 15

Jan 30

Mar 15

Mar 30

Apr 15

24. How many people celebrated their birthday
between Q and O?

Q3 oF ALY fFdar AR o 3r9aT

SieHA Gl AATAT?
A.4 B.5 C.6

D.2 E. None

Apr 30

June 15

June 30

Nov 15

25. Who celebrated their birthday just before P?
PF 8% dgel fhuar 3UAT STt HATAT?

A.N B.Q C.R D.O E.Noneofthese

Nov 30

WIC|IO|ABH=Z|OZ(O|T
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There are five buses P, Q, R, S, T and they have different number of capacities not
necessarily in the same order.

¢ P has higher capacity than Sand T.
® R has less capacity than only Q.

¢ S carries more passengers than T.

26. If R carry 62 Passengers then what would be the capacity of
o P Y &THAT S IR T H TAF & bus Q? I R62TFAAT A o SraT &, @Y QaF Y AT
e RATGTAATHAT QU FH B 1 {efr?
¢S, T T 37 IRat a1 dge WT%I A.53 B. 24 C.71 D. 49 E. None of these

27. Which bus has the least capacity? ffd a0 &Y &THdT

TN FA 82

A.Q B.P C.R D.T E. None of these

28. If P carry 25 passengers and T carry 9 passengers then what
would be the capacity of S which is divisible by 3 and not

divisible by 5? If& P 25 TIAAT &1 o Smar & 3T 179 AT
HT o SATET &, dY ST &THAT FIT g oY 3 & fAew ®
IR 5 ¥ s ad &2

A. 15 B.18 C.20 D. 27 E. None of these
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‘the capital of delhi’ is coded as ‘jai veru miti viki’. 29. What is the code of ‘crowd’?
‘many festival in delhi’ is coded as ‘viki, nic,dic,vij’ . A. miti B. sik C. dic D. tif E. None of these
‘crowd in the capital’ is coded as ‘dic, veru, miti, sik’.

‘season for festival’ is coded as ‘nis, tif,vij’. 30. What can be the code of ‘festival in
‘delhi for country’ is coded as ‘viki, noo, tif’. india’?

A. vij, veru, zee
B. vij, miti, zee
C. vij, dic, sik

D. vij, dic, zee

E. None of these

31. What is the code for ‘festival in india
crowd capital’?
A. vij, dic, veru, sik, miti
g e g B. vij, dic, jai, sik, miti
Y. | C. vij, dic, veru, sik, viki
' Z:OO ¥ { | D. vij, dic, mee, sik, tif

E. vij, dic, mee, sik, miti
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‘the capital of delhi’ is coded as ‘jai veru miti viki’. 32. What is the code of ‘capital ’?
‘many festival in delhi’ is coded as ‘viki, nic,dic,vij’ . A. ‘vik’ or ‘miti’
‘crowd in the capital’ is coded as ‘dic, veru, miti, sik’. B. ‘veru’ or ‘miti’
‘season for festival’ is coded as ‘nis, tif,vij’. C. ‘nic’ or ‘miti’
‘delhi for country’ is coded as ‘viki, noo, tif’. D. ‘vij’ or ‘dic’
E. None of these

33. If in a certain code language
‘festival’ is coded as ‘vij’ and ‘in’ is
coded as ‘dic’ in same code language
What will be the code of ‘delhi’ ?
A.viki B.nic C.sik

D. Can’t be determined

E. None of these

$2:00_
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